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Higgs production in gluon fusion
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loops of top partners? stops? ...?

Inclusive production:
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Inclusive production:

M(gg = h) = Zj@.’if—-+ KH (5= m2)
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degeneracy between ‘long-distance’ and ‘short-distance’ contributions
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How to break the degeneracy and pin down kg, ?



Boosted Higgs

Higgs recoiling against a hard jet
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for pr > My , resolve the top loop

same degeneracy as inclusive rate
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different combination of couplings

Combining inclusive and boosted measurements
breaks the degeneracy
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Breaking the degeneracy: 14 vs 100 TeV

®* Rough estimate: combine boosted and inclusive measurements using

simple X2 (no backgrounds) Grojean, ES, Schlaffer and Weiler
®* For boosted regime consider h — 17, and take ratio of cross sections to
reduce theory uncertainty: 3000 fb~", 10 or 5% syst. unc.
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* Discrimination power on k, improves strongly at 100 TeV Kt

o(pr > 650 GeV,14TeV) = o(pr > 2000 GeV,100TeV) 5



